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Part (B)
R, Aptitude Test 30 X 1= 30 Marks
2.1 Verbal reasoning such as series, analogy, classification, coding-decoding, insert the missing character,
common property, matrices, direction and distance sense test, ranking order, assertion, and reson,
induction, deduction, courses of action, etc 6 X 1 =6 Marks
2.2 Non-verbal reasoning such as series, analogy, classification, Venn diagrams, matrices, construction of
squares and triangles, and figure formation and analysis, dot situation, water images, mirror images,

embedded figures, etc. 6 X 1 =6 Marks

2.3 Quantitative aptitude such as arithmetical reasoning/operation, percentage, fraction, decimal, ratio,
average, loss, profit, date/caledar, time and work, etc. 6 X 1 =6 Marks

2.4  General mental ability, logical reasoning and analytical ability 6 X 1 =6 Marks

2.5 Data interprentation- charts, graphs, tables, data sufficiency 6 X 1 =6 Marks

Part (C)
3. English Language Competence Test 20 X 1= 20 Marks
3.1 Comprehension: 5 X1 =5 Marks

Questions will be asked based on the passage given. The questions will try to accommodate the
following areas:
-Fact finding, Infrential, Core theme, True/false identification, Issue raised and Language based
3.2 Vocabulary: 7 X1 =7 Marks
Questions will be asked to asses their grasp on the English language vocalbulary. The questions will
be of the following nature:
-Meaning of the words (literal/figurative/contextual), Single word for expressions,
Synonymes/antonyms, Derivatives and Homonyms/homophones
3.3 Syntatic ability: 8 X 1 =8 Marks
Questions will be asked to asses the syntatic ability of the candidates. The question will be based on
the follwing categories:
-Agreement, Tense aspect, Parallel structures, Clauses, Modifier, Conditionals, Phrasal
Expressions, Shifts (tense, number, person), Transformations, Varieties, repositions/conjuctions
and Parts of specch
Note - This above Enlgish Language Competence Test syllabus is devised for assesing the proficiency of the
Enlish language of candidates. With the view to asses the candidates' language competence, the syllbus
aims:
e to test the understanding of their language through reading comprehension,
¢ to map the range of their vocabulary,
e {0 examine their syntatic ability.

The nature and standard of questions in English Language Compentece Test will be such that an educated
Class XII level person will be able to answer them without any specialized study.
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TIH I AT GEAHT THA THRE
Part A- General Awareness
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q. Fe wed FF ASiEw A o gy
(A) Stratosphere (B) Mesosphere (C) lonosphere (D) Troposphere
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Part (B)
Sample Questions of Aptitude Test

. Find out the alternative which will replace the question mark.
O,T,T,FFS,SE(®?

A) A B) N Cc)o DT
. What is the missing letter ? Choose.
2 2 2 3 1 5 5 4
2 3 4 2 4 2 1 2
D H P I ? Y E P
(A) 0 (B) N (ON" (D) A

. Inacertain code 'A' is represented by 1, 'B' by 2, 'C' by 3 and so on; then all multiples of 2 are assigned a
code of 2 and all non multiples of 2 are assigned a code of 1. How is the word 'OFFICER' written in this
scheme of coding?

(A) 2221112 (B) 1112112 (C) 1221212 (D) 1221112
. Which of the following is odd out?
(A) Pen: Nib (B) Pencil: Lead (C) Cup: Saucer (D) Aero plane: Cockpit

. The houses of A and B face each other on a road going north-south. A’s being on the western side. A comes
out of his house, turns left, travels 5 m, turns right, travels 12 m to the front of D’s house. B does exactly
the same and reaches the front of C’s house. In this context, which one of the following statements is
correct?

(A) C and D live on the same street. (B) C’s house faces south.
(C) The houses of C and D are less than 30 m apart. (D) None of the above

. Six friends are sitting in a circle and are facing the centre of the circle. Binaya is between Suman and Raju.
Chandra is between Amrit and Kiran. Amrit and Raju are opposite to each other. If Suman turns left and
talks, who will he be talking to?

(A) Binaya (B) Amrit (C) Chandra (D) Raju

. Complete the series.

by
el
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8. Complete the pair from the alternatives given below.

‘l@! :D[% _{}6-3: )
il F| 5]

A B C D

9. Count the number of triangles.

12.

)

(A) 28 (B) 32 (C) 26 (D) 30
10. Complete the figure matrix from the alternatives.
2
(A) (B) © (D)
11. Choose the mirror image of fig x.
o o L) ®
12 ST rS|] rS| IS
IES ¥ * *

(A)

(B)

q0

Which number is at the bottom face of the given dice.

©

D)



5
3
(A) 2 (B) 6 ©3 (D)4
13. 16 +4=74,21+7=33,81+9=99,55+5="?
(A) 11 (B) 100 (©)91 (D)101
14. What number should replace the question mark?
779 926 ?
21 36 6 24 15 12
(A) 453 (B) 345 (c) 543 (D) 216

15. Candidates in a competitive examination consisted of 60% men and 40% women. 70% men and 75%
women cleared the qualifying test and entered the final test where 80% men and 70% women were
successful.

Which of the following statements is correct?
(@)  Success rate is higher for women.
(b)  Overall success rate is below 50%
(c) More men cleared the examination than women.
(d)  Both (a) and (b) above are correct.
16. A family went for a vacation. Unfortunately, it rained daily for 13 days when they were there. But
whenever it rained for morning, they had clear afternoons and vice versa. In all, they enjoyed 11 mornings
and 12 afternoons. How many days in all did they stay there ?

a. 15 b. 18 c. 20 d 25

17. Seats for Mathematics, Physics and Biology in a school are in the ratio 5: 7 : 8. There is a proposal to
increase these seats by 40%, 50% and 75% respectively. What will be the ratio of increased seats?

a. 2:3:4 b. 6:7:8 c. 6:8:9 d. None of these
18. A village having a population of 4000 requires 150 liters of water per head per day. It has a tank
measuring 20 m x 15m x 6m. The water of this tank will last for

a. 2 days b. 3days c. 4days d. 5days

Direction for question (19-25)

Five cities all got more rain than usual this year. The five cities are: Kathmandu, Pokhara, Biratnagar,
Nepalgunj, and Surkhet. The cities are located in five different areas of the country: the mountains, the forest,
the coast, the desert, and in a valley. The rainfall amounts were: 12 inches, 27 inches, 32 inches, 44 inches,
and 65 inches.

The city in the desert got the least rain; the city in the forest got the most rain.

Biratnagar is in the mountains.

Kathmandu got more rain than Nepalgunj.

Pokhara got more rain than Surkhet, but less rain than Biratnagar.

Nepalgunj got 44 inches of rain.

The city in the mountains got 32 inches of rain; the city on the coast got 27 inches of rain.

1
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19.

20.

21.

22.

23.

24,

Which city is in the desert?

a. Kathmandu b. Pokhara c. Biratnagar
Which city got the most rain?

a. Kathmandu b. Pokhara c. Biratnagar
How much rain did Pokhara get?

a. 12 inches b. 27 inches c. 32inches
Where is Nepalgunj located?

a. the mountains b.  the coast c. inavalley
Which of the conclusion logically follows the given statements.

Statement: All branches are flowers. All flowers are leaves.
Conclusion I: All branches are leaves.

Conclusion IlI: All leaves are branches

Conclusion Il1: All flowers are branches

Conclusion IV: Some leaves are branches.

@ Non follows

(b)  Only I and IV follows

(¢)  Only Il and Il follows

(d)  Allfollows

Surkhet

Nepalgunj

44 inches

the desert

Four people witnessed a mugging. Each gave a different description of the mugger. Which description is

probably right?

a. He was average height, thin, and middle-aged.

b. He was tall, thin, and middle-aged.

C. He was tall, thin, and young.

d He was tall, of average weight, and middle-aged.

Read the following passage and answer the 3 (Three) items that follow:

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which 1652 were males.
1226 persons voted against the proposal of which 796 were males. 1425 persons voted for the proposal. 196
females were undecided.

25.

26.

217.

How many females voted for the proposal?

A) 430 B) 600
C) 624 D) 640
How many males were undecided?
A) 31 B) 227
C) 426 D) 581
How many females were not in favour of the proposal?
A) 430 B) 496
C) 586 D) 1226

1R



The following line graph gives the ratio of the amounts of imports by a company to the amount of exports from
that company over the period from 1995 to 2001.

Ratio of Value of Imports to Exports by a Company Over the Years.

1.4 1.55 4

1.25 -

e

0.85 I o.os

0.65

o 0.25
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1995 19965 1997 1998 1999 2000 2001

vears
Using the above graph and answer the next 4 questions.
28. What was the percentage increase in imports from 1997 to 1998 ?
A) 72 B) 56 C) 28 D) Data inadequate
29. In how many of the given years were the exports more than the imports ?
A) 1 year B) 2 years C) 3 years D) 4 years
30. Question: What is the code for 'sky' in the code language ?

Statements:

I:  Inthe code language, 'sky is clear' is written as 'de ra fa'.

Il: In the same code language, 'make it clear' is written as 'de ga jo'.
(@) I alone is sufficient while Il alone is not sufficient

(b) 1l alone is sufficient while | alone is not sufficient

(c) Neither I nor Il is sufficient

(d) Both I'and Il are sufficient

93



Part (C)
Sample Question of English Language Competence Test

Read the passage below and answer the questions that follow.
Passage |
Oak and Company
Richard Mabey
1 If tree families had family trees the oak would have one of the oldest and grandest of all. There are more than

500 different species, and over the last million years they have spread, in various shapes and forms, over most
of the northern half of the earth. There are mountain oaks, swamp oaks, evergreen oaks, weeping oaks, and
oaks on windswept cliffs that never reach more than two or three feet in height. One kind in Spain has such
a spongy bark that it is used to make cork, so there are soft oaks, too. But for most of us, oak means just one
kind of tree: the tough, rugged giant that has played such a part in history and legend, and been so important
in the woodlands of Europe and North America.

2 Perhaps we have been unfair to other trees, but the forest oaks deserve their fame. They are hardy, essay-
going, and not all fussy about whether they grow. They can reach a great age —even a thousand of years,
though most are cut down long before this. Their squat trunks and twisted branches, looking like clenched
wooden muscles, can stand up to the worst kinds of weather.

3 On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It is solid and
hard-wearing, as good for furniture as it is for firewood. Before the days of steel and concrete it made the
frames of houses and ships. If we had to invent a new kind of timber it would be hard to think up anything
better.

4 Yet it isn’t just humans who find oaks the most useful of trees. Over the ages a huge number of animals and
plants have learned to live off—and in—the oaks. It is tempting to say that a full-grown oak is like a house,
but it is really more like a city—a whole community of creatures travelling, working, eating, sleeping, singing,
and bringing up young, on every part from the topmost spring buds to the dead gash blasted out by a
lightening flash.

Comprehension Questions : (5x1=5)

Choose the correct alternative.

1. Which statement is closest to the main idea expressed in the first paragraph?
A. that there are varieties of oaks
B. that trees like oaks are family trees
C. most people think that there is only one type of oak
D. the best kind of oak is found in Spain
2. By giving example of a kind of oak found in Spain, the writer proves—
A.  there are soft oaks
B.  oaks can be useful
C.  cork manufacturing industry depends on oaks
D.  our thinking of oak as a hard wood is wrong
3. All the statements below are true, except—
A.  there are varieties of oaks
B.  oaks primarily grow in Northern part of the earth
C.  oaks have muscles like human beings
D

steel is used nowadays as building material for which oaks were used in the past
Q¥



The sentence “If we had to invent a new kind of timber it would be hard to think up anything better”

means—

A.  We cannot invent a new kind of timber

B. Itis hard to think about a new timber

C. Itis hard to find a better timber than oak

D. It’s time t hat we better think of a new timber than oak
Which statement best expresses the idea expressed in paragraph 4?
A.  Animals and birds make homes in oaks

B.  Sometimes lightening strikes oaks

C. Plants also depend on oaks

D.  Notonly humans but also animals and plants find oaks useful

Vocabulary Questions:

10.

The closest meaning of the word “giant” in paragraph 1 is ---
A. legendary huge humanlike beings

B.  apowerful living being

C.  abeing who has history and legend

D. strong and having a great size

The phrase “stand up to” in paragraph 2 means —

A. Standing erect

B. Rise to a erect position

C.  Support oneself

D. Beequally capable in strength and power

“Bring up” in paragraph 4 means—

A. Raise children or babies

B.  Bring something from another place

C.  Come closer to an object

D. Push something to a higher plane

The closest opposite meaning of the word “fussy” in paragraph 2 is—
A.  Selective

B. Choosy

C. Hardto please

D. Easy-going

Which grammar class (parts of speech) the “windswept” in paragraph 1 belongs to?
A. Noun

B. Verb

C. Adjective

D. Compound word

Syntatic Ability Questions:

Choose the correct alternative.

11.

Which sentence indicates that John earned some money?
A.  John nearly earned $100.

B.  John Earned nearly $100.

C. Bothaandb

D.  None of the above

9«

(7x1=T7)

(8x1=8)



12.

13.

14.

15.

Which sentence is best active version of the sentence “the computer disk was damaged by electric shock™?

A.  Someone damaged the computer disk.

B.  The computer disk has been damages by the electric shock.
C.  The electric shock damaged the computer disk.

D. Due to electric shock, the computer disk was damaged.
Which one is the correct English expression?

A.  John has been collecting stamps since 1996.

B.  John collected stamps since 1996.

C.  John had collected stamps since 1996.

D.  Since 1996, John was collecting stamps.

Which preposition completes the sentence “I expect a lot of guest
A. in

B. at

C. on

D. for

Which alternative completes the sentence “Last year, we visited
A. that

B. the

C. a

D none

9%

Christmas.

St. Paul Cathedral in Vienna.



RIS AT ATART
HiElt yw, e A
LRI R GRS IS | | D R A LU | R 2 G 1 1 O B S | 0 B RS
T, T T AR <@l T qE, ARHaead Al dehl TResd! Gall, ol 78 T daT
M T8 ARcHs TOErs! TSasha

Tl =T (Second Phase):- fetfera arer

fadi o= :- A el
Section (A) — 10 Marks X 3 Questions = 30 Marks

TS T AET

.9 YOS ATIRAT TET: ATGRO, G=a T Faeroan

R YTEHT TSI T JeTEHaE G, i T yemate defio

1.3 FEAAH FH T ARG

¥ g [ T ae

LY 5T T AR

1% SR AHT GO

1.9 AT FLEAT SATEAIT: ATIRM, &A T THH AT GREATHT [@eHT e e

.c FEEAAT G T AU TN YR, AR GHE] R, T 9,
FEHNAHAS MG, SFAEAEH T T GIch A

1.2 FaET yorett, FatEe =96, FarEa geear T HaeEme [Eg 1@ee

9.90 =hd== T U~

.99 T TLET GEEE SR

9.9 TOTHT 9 T

.93 IR TG A qAT [GHS! FATgETRT qvery

1.9% sFaeAa=Hl fafdg e g7y, q94, gAd, [69g, he, diEdd

Section (B) — 10 Marks X 2 Questions = 20 Marks
e T A
2.9 WfgmarR
3 U gagiNE A
.3 WU AAHE e
.3.9 AT faRIdie®, HATl®], SUaedmuahT T A
3.3.] A g, Meve Rgra T usasr Aifdee
3.3.3 AUl a1 s Fa Mewees w1 ud faasr srefem
LY HEE ATHR
.Y ARG =T, AN T Haed T foreaand
& FHIAHT AAge qAT TAAHT BT (THRT 6T

q9



RS HIAR WA, AFAAS Hed T WA, FEEefd, qaaas  JfaHfeea qar
THRHF [T

o GEEH AHides T Gl dEeh] cgTed

R B REIE] Log Rolling d9T Venue Shopping?sblf Y, ATIRIM T TN

Section (C) — 10 Marks X 3 Questions = 30 Marks

AW FaT T QEwe sqaeduT

39 WESHE YD ATURM, HTY, EQar T 9T
3.} WEWEE AT 9aTE

3.3 oA qeEudr, Yiaagdr, RERiar T 3aRaiea
3.Y WEWHE PR AN, GUEH, GEHR T A
Y rEHE SaedId, Mt 9ar T s
3.5 gEsHe At Harer wEwar T s

3.0 WS AT FEud

35 fagde amEa

3% QUTE: A, ATURIT T AVATH
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Section (C) — 10 Marks X 3 Questions = 30 Marks

THI AMh HRARD q@gd T qdasT

39 THI AMTEH HER: =, FEdT, Her Fawe, R @, e gbaE
T Yfcrass qFaeel e

3.} TRRI TEYUIel, W8 T WEHTEAT AT <i@m Jumed!

3 9rdar Eﬁ (Chart Of Accounts) Ushel dTdl kiYW (Treasury Single Account), CGAS, SUTRA
qAT TS SIIEAIT AT GOl (RMIS) FFa=ell eI

3% wEE i, e qur g @

3Y WEANHE SABT @MW T AAE HREE qAaT qeerdl BTl saaed

3% WEAWHE WRE FAEAOT T IF Gl BT oqaed

3.0 ¥g U YL AfFE HEAEE qur i SaRatica araedt FTee

@ I g

¥.q < TOEET e, vy, YER T AR Rgra

¥.R G qAT 9S8 T@IIEvTHE

¥.3 F69 T T69 Felc qEIRET caeee

¥.Y¥ T, TSI qAT TIHT T T@MIAEA JAT qrael-ies GEATehT <T@l TeT

YW WETE TOE® T Tl T qeeedl Bl sgaed

¥.& @l G grerdl AT T AT FEAEE (ICAN, INTOSAI, ASOSAI)
Section (D) — 10 Marks X 2 Questions = 20 Marks

FEET WERAT T T umredt

Y.9 TH™ YOIl T OTerEr dEEr

Y. Y, YU T T TEET Siehl AL deqiaeao

Y.3 TS 9T FTe a7 SHaEdds HrEe T BT W 9T

Y. T G G T SHaEdS HIAEY T BT HA qeea

Y. ST & T Al g e seaiaey

¥.€ GuE, G4 afld T gauite Femee Sem deacaraey

Y. THE URTEHET, TOLT T ¥ I HAqeTh! T

Y.C WA G q9T SHaeddT Aidd! 9T

Y.% WY, TSI T TAET GHN HAT T GEEl d sqaedT T ST aai
¥.q0 ¥we ¥ el sofifRees ek, agemeE, geEr T s
Y.99 TS THR HEGFEIEA HIAE q91 T8 THR HraEdee FawmaEed

R



TS o o T YOl A THEw

i+ gEEs S R |

(q) UTer! GAeHH AHREHHABT TH Jeol@ TS ATAH TUTerh] GRIEHHT ATRAT BEvaee
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A+aH AT — HFYeL QT TH&v, FHRed TOET T Fwaarar (Computer Skill Test, Group Test &

Interview)
forar:- ®FgeT @ Wl (Computer Skill Test)

FARTICHE TU&T AT (Practical Examination Scheme)

o Pm (e[| Pwwgfe [ o [ wwm
Devanagari Typing LR Y e
English Typing .Y uF Y e
Fregex 0 qhE 90 Word Processing RuE
(Computer Skill Test) Electronic Spreadsheet Q495
Presentation Sysytem 19

q0 fee

Windows basic, Email and Internet qaF
ELy q0 3 Rofume

Contents
1. Windows basic, Email and Internet
Introduction to Graphical User Interface
Use & Update of Antivirus
Concept of virus, worm, spam etc.
Starting and shutting down Windows
Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc.
Concept of file, folder, menu, toolbar
Searching files and folders
Internet browsing & searching the content in the web
Creating Email ID, Using email and mail client tools
Basic Network troubleshooting (checking network & internet connectivity)

2. Word processing

Creating, saving and opening documents

Typing in Devanagari and English

Copying, Moving, Deleting and Formatting Text
Paragraph formatting (alignment, indentation, spacing etc.)
Creating lists with Bullets and Numbering

Creating and Manipulating Tables

Borders and Shading

Creating Newspaper Style Documents Using Column
Security Techniques of Document

Inserting header, footer, page number, Graphics, Pictures, Symbols
Page setting, previewing and printing of documents

Mail merge

3. Presentation System

Introduction to presentation application

Creating, Opening & Saving Slides

Formatting Slides, Slide design, Inserting header & footer

Slide Show

Animation

Inserting Built-in picture, Picture, Table, Chart, Graphs, and Organization Chart etc.

Y



Electronic Spreadsheet

. Organization of Electronic Spreadsheet applications (Cells, Rows, Columns, Worksheet, Workbook and
Workspace)

. Creating, Opening and Saving Work Book

. Editing, Copying, Moving, Deleting Cell Contents

. Formatting Cells (Font, Border, Pattern, Alignment, Number, Protection, Margins and text wrap)

. Formatting Rows, Column and Sheets

. Using Formula with Relative and Absolute Cell Reference

. Using Basic Functions (IF, SUM, MAX, MIN, AVERAGE etc.)

. Sorting and Filtering Data

o Inserting Header and Footer

. Page Setting, Previewing and Printing

WARTCH® ol Ware 69 Tq&uesT F941 TeE

(Sample questions of Computer Skill Test)

T TEETRT TaAN Textellg AT6R AHT 22T T | [R.4 93] * fde)
(FHFAHT 150 ¥METEE WD AR Text fag=g |)
e fEguRT AT Textelg TG A <127 THe™ | [R.4 #5] * fme)

(HBFTHT 200 TTeEE® AUHT ST Text Gy 1)
T . 3, ¥, X T & HT R 5+ q 0 fme)

Perform the following in Word Processing: [R]

a.  Create a new document having three pages, in which first & third page is in portrait orientation and second
page is in landscape orientation.

b.  Insert Page number as footer with center alignment, where in first page ‘1°, in second page ‘A’ and third
pages ‘i’.

Prepare a presentation for the following information. [0.4XR =9 1]

Title- Introduction of Province Public Service Commission
Subtitle- Present by Ram, Established: 23 January 2020
Insert any one Clip Art with using animations.

Prepare the worksheet as below and insert suitable formula to calculate total salary.

[0.4X3=9]
[S.No. [Name ~ [Month [ salary |
1 Ram January $ 350.00
2 Shyam February $300.00
3 Hari March $ 250.00
Total Salary:
Perform the following: [11]

Set psc.pl.gov.np as home page in your internet browser.

Word Processing, Presentation system, Electronic Spreadsheet/Windows basic, Email and Internet EESHIRE

feature 2% FHTAY WUHT q0 e 9fFT e afgqg |
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ISl a1 TEEETY Typing Skill Test 3T TR HEEH:-
1. TETINT Typing Skill Test 1 @RI 940 YEag®d! U3l Text €58 ¥ I8 ATER @ Y AAG:-

Y I HAYE WeE Wi e amd o ¥

Y AT AWEET FE 9.Y WRRT HHYE YeR Ui (e add 0.40 9T
.Y AT WMET ET T Q0 WAl HAYE ¥e8 U (e amad 0.8% #F
Q0 a1 |WRET & T 9R.% HET HAYE ¥E8 Ui e amad q.00 I
Q3.4 A1 WWET & T QY WaT FHAYE WeE Wi Fee amd 1.3% o3
QY A1 WWET ST T Q6.4 WRRT HAYE eE Wi Fee ad .40 o3
Q.Y a1 FMaT Tl T R0 Weal HHYE wed Wi Fee amd oY wF
0 A1 AT F&T T .Y WRET HAYG WeE Wi S = .00 ¥F
IR.Y AT HWRET T T Y HET HHYG W7 WA S S Y AqF
Y AT T GG ER Ui e A .40 AT

2. English Typing Skill Test T TNT 00 EEEH! UILT Text fasg T TBH ATAR & Y AAG:-

& W3 HHYE Y7 U e amad o g
& A HWRRT T & WRRT HAYSE WeE WA e AT 0.0 #T
Q AT WMAT AT T (R WAl HHYG YT U (e amda 0.0Y AT
QR AT AT LT T QY 93T HAYE e Wi Fe amda q.00 AF
QY 1 FWRET €T T 9 WRRT HAYE 9e8 Wi e amd 9.4 ¥
1% a1 |HET FEl T R WAl HAYE WeE W Fe ada q.40 I
RQ A AR Tl T Y HET HHYG WER U (S A 1.9% 9%
Ry AT AT AT T 9 WRT HHYG R Ui e Arad .00 I
0 AT FWEET FET T 30 HeET HHYG YER U (HE arad RIY AqF
30 91 QT TG ¥e8 Uid Fee amad .40 uT
3. ST &7 SEENT Typing AT fEURT Text TS ATHR AT 3T THT Text T W % ag | Rgusr
IS AT TAANTT Text W Sfearad €9 FHIGH Tdendie®e AT Text AT Punctuation 15T I
YIEUAT TG YEEHT 0T T @:{ | degara ¥ Formula SIRT T4 RIE g Uid e (Correct
Words/minute) Fepterg |
Formula:

(Total words typed — Wrong words)

‘{EWQ%&I%E (Correct words/minute) = 5




e TXET (Group Test)

Arfed ThE Tafhcd THET (Personality Test) &1 Us 9T &1 | Fomedht Jamsh! emfaear aar s
Tl aREd T AT G AT ST S, A, FRHE Aty wiyr e et geawa wh e
A TE TR T FTAAI AT FHIE UeedTS GEa-aa] SFHTANEe ! &l Uesr T T8 TQerh!
T W B | AEH AN g, e famet W aifRaft ggw e, Fofr T, s Beanfa aaree, B
e, Fufia wea FER H1E /RIS, Sl HHET AR G FqATHT AT IS AAHE S
UfeaT T W, A, e, Ak 9 eI 9y |

TR T TNAVA JFHAREEHT AMgH A, GAR A, g e, s, s, wE,
Fpamefierdn, futaerics, THEar GRS ST, Tqcd ST, AT SYFATAAT q9l bl WUHT q7d e
el A THEAT T GeaTs THh! TN JEHEAREEeTS P AHETHI (&I F=Tel /AT Qe gerhel
T FATFE T FETAIT AT FAEE Fepred gy |

HIe® FABA (Group Discussion)
T FASHHT AN A TG0 0 qUig T 30 e F@gd gy 99 Adieed qHed gahd
(Leaderless Group Discussion) H BUAT FTAFAT MRA g | fguwr w o Topic T T T IR
TEANA TYEA Gelhel s Jedsh IEHTAR SARhd Wedid (Individual Presentation) 9 g |

UHfe® GARTHl {5 THAT W a1 Topic

TETETH] AN — FHIAT FTEAT, o Gobe, T ARy, Taresy AT, @re g, Wit Tadd, dvak e
qE T e, 99 YS9T T T dehl 9ie ARSI S, T Qe ST Geeea Waeqdl, T Y
STEAT Topics W%Ta'gﬁ Uk Topic HIA ﬁ?@ |
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